

El Bilal Sup
Prepas NPSI
Prof. MANOUNI

Cours
Simulation DS1

EX-1

- 1) $\exists y \in \mathbb{R}, \forall x \in \mathbb{R}, y \neq x^2$
- 2) ~~$\forall x \in \mathbb{R}, \exists y \in \mathbb{R}, f(x) \leq y$~~
 ~~$\forall x \in \mathbb{R}, \exists y \in \mathbb{R}, f(x) > y$~~
 $\exists x \in \mathbb{R}, \forall y \in \mathbb{R}, f(x) > y$
et $f(x) < y$
- 3) $\exists \varepsilon > 0 \forall \alpha > 0, \exists (x, y) \in \mathbb{R}$
tq $|x - y| < \alpha$ et $|f(x) - f(y)| \geq \varepsilon$
- 4) $\forall x \in \mathbb{R}, \forall y \in \mathbb{R}, \forall z \in \mathbb{R}$
 $x < y < z$ et $\left(\begin{array}{l} f(x) > f(y) \\ \text{ou} \\ f(y) = f(z) \end{array} \right)$

(1)

EX2 et EX3 voir corrigé
Td ECS1

EX4

$$1) S_{n+1} = \sum_{k=1}^{n+1} \frac{1}{k} \binom{n+1}{k} (f-1)^{k-1}$$

$$S_n = \sum_{k=1}^n \frac{1}{k} \binom{n}{k} (f-1)^{k-1} = \sum_{k=1}^{n+1} \frac{1}{k} \binom{n}{k} (f-1)^{k-1}$$

car $\binom{n}{n+1} = 0$ par convention

2) Selon la formule du Triangle de Pascal

$$\binom{n}{k-1} + \binom{n}{k} = \binom{n+1}{k}$$

Donc $\binom{n+1}{k} - \binom{n}{k} = \binom{n}{k-1}$

cas $S_{n+1} - S_n = \sum_{k=1}^{n+1} \frac{1}{k} \binom{n}{k-1} (-1)^{k-1}$

$= \sum_{p=0}^n \frac{1}{p+1} \binom{n}{p} (-1)^p$ } change indice
p=k-1

ou $(1+x)^n = \sum_{p=0}^n \binom{n}{p} x^p$

donc $\int_0^x (1+t)^n dt = \sum_{p=0}^n \binom{n}{p} \frac{x^{p+1}}{p+1}$

ce $\frac{(1+x)^{n+1} - 1}{(n+1)x} = \sum_{p=0}^n \frac{1}{p+1} \binom{n}{p} x^p$

pour $x = -1$
 $S_{n+1} - S_n = \sum_{p=0}^n \frac{1}{p+1} \binom{n}{p} (-1)^p = \frac{1}{n+1}$

3) $\frac{1}{k} \binom{n}{k-1} = \frac{1}{k} \frac{n!}{(k-1)! (n-k+1)!}$
 $= \frac{n!}{k! (n-k+1)!}$

$\frac{1}{n+1} \binom{n+1}{k} = \frac{(n+1)!}{(n+1) k! (n+1-k)!}$
 $= \frac{n!}{k! (n+1-k)!}$

il en résulte

4) voir qd 2

5) $\sum_{k=1}^n \frac{1}{k} = \sum_{k=2}^n (S_k - S_{k-1}) + S_1$
 $= S_2 - S_1 + S_1$
 $+ S_3 - S_2$
 $+ \dots$
 $+ S_n - S_{n-1} = S_n$